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3 The mechanism of a wrapping machine as shown in figure 1 has the following
dimensions 01A is 100 mm, AC is 700mm, BC is 200mm, OsC is 200mm O;E is
e, -"'T101|re e shows a six lmk mechamsm Tf’te dlmensmns of the Imks are OA ZEOmm

AB=485mm, BQ=310mm, BC 590mm and CD=400mm. For the position when the
crank OA makes an angle of 60° with vertical, find the velocity of the slider D. The crank
OA rotates clockwise at 150rpm. [15]
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Explain and prove that the Peaucellier mechanism is used for generating exact straight
line motion.
Derwe the condmon for correct steenng and exp]am in detall [8+7]

‘sttmou:sh between the Daws and Ackerman s steermg gear meehamsms and explaJne>.,

‘Derive an expression for the ratio of angular velocities'of thé shafté of a Hooke's joint, *

[8+7]

A cam, with a minimum radius of 25 mm, rotating clockwise with simple harmonic
motlon is to be des:gned to give a roller follower, at the end of a valve rod, motlon

the roIIer is 20 Draw the profle of the cam when the I1r1e of stroke of the valve rod
passes through the axis of the cam shaft. [15]
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